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1) 00000 $\dfrac{dy}{dx}=f(x)g(y)$,0 O O $\dfrac{1}{g(y)}dy=f(x)dx$ OO O OO

O $\int\dfrac{dy}{g(y)}=\int f(x)dx+C$2) 00 0,000003000 [1]
$\dfrac{dy}{dx}=f(\dfrac{dy}{dx})$,0 O $\dfrac{y}{x}=u$,0y0 0,0 0udx0 0000
$\dfrac{du} {dx}=\dfrac{1} {x}(f(u)-u)$ [2] $\dfrac{dy}{dx}=f(\dfrac{a'x+b'y+c'} {ax+by+c}) \quad
(a'b\neq ab")$, O $x=X+x_0, y=Y+y 0$ 0 O O O $a'x 0+b'y 0+c=0,ax_0+by 0+c=0)$0 000 O00OX
OY,000000[1]000 $\dfrac{dY}{dX}=f(\dfrac{a'X+b'Y}{aX+bY})$ [3]

$\dfrac{dy} {dx}=f(\dfrac{k(ax+by)+c'} {ax+by+c}),$0 $ax+by=us,0 000 00O OO
$\dfrac{du}{dx}=a+bf(\dfrac{ku+c'}{u+c})$ 3) O O $\dfrac{dy}{dx}+P(x)y=Q(x)$ DO O OO O
0: $y=e~{-\int P(x)dx} \{\int Q(x)e™ {\int P(x)dx}dx+C\}$ 4) OO OO
$\dfrac{dy}{dx}+P(x)dy=Q(x)y”™n (n\neq 0,1$ O $z=y~{1-n}$ O O $\dfrac{dz}{dx}+(1-n)P(x)z=(1-
NQ(x)$ 00030 OO0 O0OO0 5)Riccatid O $\dfrac{dy}{dx}=P(x)+Q(x)y+R(x)y"2$ 000 O O
O00%y 1s00,0%y=z+y 1$0000000,00 $\dfrac{dz}{dx}=\{Q(x)+2R(x)y_1\}z+R(x)z"2$
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